PDF 2022 9 Web
nEiEE-SECER sELADE » www.iwata-fa. jp

644

CY=F 4 15 RoHS
=10 R 10 e

A EURILNY T PB

CHREDY A XTI 1D SRIELET .

’
A

iwata

§m?’/t vF = N(ﬂtE)

L B mm
P
2-¢d
i
@H‘H@ -
I
4-C1
M 2- XA ARILS BT R
i k} i
T + T
S < L |
ME REIE
$% SS400, B
ZXF > L X SUS304
BB
BERIL ~
RILRBAX RIEYF st T
BPBF M NeEr ey - ARG - P SIS ZLd - i
SREERIL b FBTE 1 mmBESfiL fifi4& (M)
fubyez|  RIEVF el A P H LT z S
Vo N@EB) | HeEE) B(RRD) | ATL2R
4 M4 x0.7 — 3.5(M3H) 5~15 | 12~15 | A+ 5 25| 10 1,210 1,760
5 | M5%0.8 - 4.5(M4H) 6~20 | 15~20 | A+ 6| 32| 12 1,320 1,930
6 | M6x1.0 |[M6X0.75| 5.5(M5M) 7~22 | 18~25 | A+ 7| 38| 16 1,540 2,200
8 |M8x1.25/M8x0.75| 6.6(M6F) 9~30 | 21~29 | A+ 9| 44| 19 1,760 2,860
10 |[M10x1.5/M10X1.0| 9(M8H) 11~35 | 26~32 | A+11 50 | 22 1,980 3,520
12 M12Xx1.75M12x1.0| 11(M10/) | 13~40 | 33~43 | A+13 | 65| 25 2,750 4,620
16 |M16x2.0 M16x1.5| 14(M12M) | 15~45 | 39~51 | A+15 75 | 30 3,630 5,500
20 [M20x25|M20X1.5| 14(M12/H) | 18~55 | 44~76 | A+18 | 100 | 32 3,630 5,500
EXHI
geeseeserccieancn */-H-{XM_*]G
8 | 5o000000000000000000 AL A = 20mm
BPBF 16 N A20 P4O Z



